ctoto

F539MARAR—YVIRHE LHER

23411848

MITTBGEABARRR—ViRE+ 42—

AR — VRO 4 FR
53 9MARN—VIERL U

AR — Y IRBEE SR 0 % 5e I

-BIG (Bv?)

Fik2 341 0H22H () ~FHFE10H29H
*BIG1000 (EvZ7&y)

Fik2 31 0H22H () ~FHFE10H29H
(hHK)

Fik2 341 0H22H () ~FHFE10H29H

faER G 2 I L7 B S

(+)

(+)

(+)

o) iZxoft (51&m) - IER) 2%KT.

2 3410H29H () . A#E10A30H (H) KOFEHELT 1T H3H (K)

h R ]

V231 1H7TH (H) ~Fi244F11H6H (k)
AR—VIREL CORER KLY E AL

*BIG

B e R A B R
No. ﬁmé [F—2F—21]) ARG R (77 =AF—21] < AR
B H

@ | 10/29 ALY HF. C. 1 % 0 ML~ — L 1
® | 10/30 a2 R— LALIR 3 % 0 a7y RE 1
® | 10/30 F CHIT 1 %t 1 WY = VT 4 0
@ | 10/30 VT arAT v NTIE 0 % 1 WET LT 4 A 2
® | 10/30 72— L g 4 %t 2 A F— 1 B 1
® | 10/29 X777 b 2 % 1 Wiks C 1
@ | 10/30 KEFR—=Y =k v 2 %t 2 PR 0
® 10/30 BHIEF C 0 X 1 777 — /Wl 2
© | 10/30 F Clli B 4 %t 4 FH B 0
@ | 10/30 EIRF C 1 %1 Ky h=—% 0
) 11/3 MrA VL 4 x5 0 TIE Ly T A 1
® 11/3 g7 ez —1 0 X 1 KETILVF f—T % 2
® 11/3 VNP N T 1 % 0 BET v T —X 1
) 11/3 Ty 74— VT 1 %t 2 BEE - ~VU /A 2
(JE) < UHEEoOMh M1 1 3R —2aF —2 0900 ToME, 2] TR —ALF—LD05MTOAIT,




e A AR E R VINE = IE] (BIG) ML 4
(M q=N (D
1 % 600, 000, 000 1 6, 080, 863, 173
2 % 2,828, 253 34 0
3 % 71, 460 497 0
4 % 9,960 3, 851 0
5 % 1, 800 21, 401 0
B = 45 i@t A Al (BIG) %4 ()
e 4% (1) 1,923, 212, 400 1 & 5,930, 810, 337
BEOH (1) 6,410, 708 2 % 0
BB (K0 1,448,102 3 & 0
4 %= 0
5 % 0
+BIG1000
B e R A B %
Yo | 2T rear—a) How R (ro=t7—n] | <EFE
BAfE H
@ | 10/29 ARV HF. C. 1 % 0 W~ ~— L 1
® | 10/30 a2 R— LALIR 3 % 0 nY VR 1
@ | 10/30 F C 1 %t 1 WL = VT o 0
@ | 10/30 VxTZalAT vy RTIE 0 xf 1 WET VT 4 A 2
® | 10/30 72— L g 4 %t 2 A F— 1 B 1
® | 10/29 X777 b 2 % 1 ks C 1
@ | 10/30 RiEF C 0 xt 1 777 — /[l 2
® | 10/30 F Cl B 4 %t 4 W B 0
©® | 10/30 FIEF C 1 %t 1 Koy bV =—% 0
a 11/3 LAY 4 5t 0 TIE L v T A 1
) 11/3 VINZAVN 3 I %t 0 T v hT—X 1
(F) < UEEROMT 1) 3R —2F—20900HToORL, 2] 1ZE—AF—209075 M TOHAIT,
o) Ix#oft (51451 - k) 2%7,
WA KE E R VIuE ' YR Ia] (BIG1000) ML 4>
G q=) G
1 % 11,671, 842 7 0
2 % 131,778 155 0
3 % 12, 394 1, 648 0
4 % 1, 360 9,998 0
B = A5 A [a] (BIG1000) M4 ()
e k& (M) 272, 343, 000

BEOH (0)

1,361, 715

PR (B0

382, 213

b lwln| =

A | 45 [ 45| 48
o|o|o| o




toto

o) iZzoft (5I&m) - ER) 2FKT,

B E R A& 8 %
N AN B RS BAHR SRS
PrE B

@ [ 10/29 | mUES4 > AF. C. I IR~ L~ — L 1
@ [ 10/30 | =4 F— AL 3 % 0 07 v YRR 1
© | 10750 | FCRR Lo 1 | dmv=avy 0
@[ 1030 | Y=Tad A7y FTE] 0 % 1 TR T AL T 4 A 2
© | 10730 | H&—LEl 4 A 2 AT — LB 1
® | 10020 | %777 YN 2 & 1| WiAscC 1
©) 10/30 KFHR—U—Rv 7 o % 2 PR B 0
10/30 BEIEF C 0 %xf 1 ~ > o7 — >
© | 10/30 | FClck T F 7 Bl 5
10/30 FIEF C % 1 Ry p— 5
WS AL 4 % 0 TIE Ly 7 ARE ]
@] s | 7wy b 0 K 1 KET AT A=V 2
® ] 11/3 | ARk Lt 0 | BRTYRI—X 1
GE) < UHEEOMF 1] FF—2F =005 TOBL, (2] ZA—LF—L0D9055MTORAT,

e A AR WA O PRI (toto) MNE 4
(M) q=) (M
1 % 0 0 58, 661, 190
2 & 465, 548 27 0
3 % 28,700 438 0
& = 45 A al (toto) M4 (H)
e b4akE (H) 167, 603, 400 1 % 0
BEO# (0) 1,676,034 2 0
BB (B0 165, 947 3 4 0




E539EAR—YIRER LER
TH23F10A31H

WMITTBCEABRRAR—VIREE 2 —
AR —V R D 4 FR
53 9MARN—VIERL U

A TR PR B 2 D 5 sE ]

BIG (R=tEv7)

V2 3#10H22H () ~FE4#10H29H
‘mini toto AL (Z=FrrxA273)
V2 3#10H22H () ~FE4#E10H29H
‘mini toto Bl (S=rFE—723)
V2 3#10H22H () ~FE4#10H29H
*totoGOAL3 (Fhad—nnzrl—)

V2 3#10H22H () ~FE4#E10H29H

*mini

faE A & FEh L 72 ) B SR

FEk2 31 0H29H (&) KWGHEFE1IO0H30H (H)

h R

P2 31 1H1IH (k) ~F24F10H31H (K)
ZR—VIEH U ORER{L YT AL

*mini BIG

BoE R A& K R
N | B OE D heng—a) RaHR S PO T S I
BRfeE 1

@ | 10/29 TERY L HF. C. 1 % 0 W~ ~— 1L 1
® | 10/30 o R— AL 3 % 0 07y VR 1
@ | 10/30 F CHE 1 %t 1 WY = /LT o 0
@ | 10/30 VT arAT v NTEE 0 xt 1 R T ANT 4 A 2
® | 10/30 74— Vgl 4 %F 2 HAF— L B 1
® | 10/29 X7 77 AN 2 % 1 WEARS C 1
@ | 10/30 FRILF C 0 % 1 77T — /il 2
® | 10/30 F Cli R 4 %t 4 FH B 0
® | 10/30 EIRF C 1 51 K h=—% 0
(JE) < UHEEoOMD M1 1 3R —2aF —2 0900 ToMBE, 2] TR —LF—LD05MTOAIT,

o) iZxoft (51&m) - IER) 2%KT.

W A4 RNk :q Ial (mini BIG) & 4
(M) q=N (M
1 % 1,271, 466 32 0
2 % 21,476 760 0
3 % 4,080 5,969 0
B = A5 A A (mini BIG) hn%i4: (H)
gt b&%E (1) 162, 747, 800 1 4 0
BEO#HK (1) 813,739 2 % 0
BERH (K0 265, 732 3 & 0




o) iZzoft (5I&m) - LK) 2FKT.,

‘mini toto AM
fBoE R A& R
N AN B RS BAHR SRS
PRt H

@ [ 10/29 | mUES4 > AF. C. I IR~ L~ — L 1

@ [ 10/30 | =4 F— AL 3 % 0 07 v YRR 1

© | 10750 | FCRR Lo 1 | dmv=avy 0

@[ 1030 | Y=Tad A7y FTE] 0 % 1 TR T AL T 4 A 2

© | 10730 | Hz—LEl 4 A 2 AT — LB 1
() < CHREROMT 11 13AR—=LF =200 TORH, 2] 3R —LF—LD05HTOAT,

U ALK E R VINE = WIE] (mini toto ARH) INEL4:
(M) q=) (M)
1 % 6,057 1,239 0
B = A& A (mini toto AR) N4 (M)
e bz (M) 15,011, 700 1% 0
BEOL (0) 150, 117
BB (K0 30,914
‘mini toto Bf
BoE R A& K R
No. ﬁﬁf’\ [F—2nF—2] ENEEEES (7D =1 F—2] < LR
BA ke H
O | 10/29 X777 b 2 % 1 ks C 1
@ | 10/30 KFEAR—=Y =Ky 2 %t 2 AR 0
® | 10/30 FRILF C 0 % 1 77 T — /[l 2
@ | 10/30 F Cllgz B 4 %t 4 T A 0
® | 10/30 EIRF C 1 51 Ky hl=—% 0
GB) < URHEROMF 1) ZF—2F =200 TOBE, (2] 3FA—2F—209055MTOAT,
0] 1320 (Bl&437 - EE) 2HKT.
W A4 ER W IINE WAl (mini toto BH) M4
(M) q=N (M)
1 % 48,736 123 0
B o= 5 i A Al (mini toto BHA) M4 (M)
e L (1) 11, 989, 200 1 % | 0
BEOK (A) 119, 892
B (B0 24,848




*totoGOALS3

N

T e E Y
10/29 % -E%ﬁﬁﬁ?ﬁ ________ (1)_ ______ :) o
e e
o,

() < UFEROMF T0) 13900 ToO{/F—2058 Tos) . 1] 1Z905HTCOREF—208R 8 T18] |
(2] X905 I CHOEF—LDEA 1281 . 3] 1F905 M COEF—2rHm 1380 ) 2%F7,

R e E RV VISE KAl (totoGOAL3) N4>
(M) (m) (M
1 % 58, 080 161 0
2 % 1,920 3, 254 0
B o= A5 it A [a] (totoGOAL3) MN% 4 (M)
g¢ b4&%E () 31, 202, 600 1 %
BEOH (1) 312,026 2 % 0
BB (K0 42,160




